A. Asociaciones Publico Privadas

0.00 0.00 0.00 0.00 .00 i
(APP’s) (A=a+b+c+d) 0 0.90
a) APP 1 0.00 0.00 0.00 0.00 0.00| 0.00|
b) APP 2 0.00] 0.00| 0.00 0.00| 0.00 0.00
c)APP 3 0.00 0.00 0.00 0.00 0.00 0.00
d) APP XX 0.00] 0.00] 0.00] 0.00 0.00] 0.00
B. Otros Instrumentos (B=a+b+c+d) 0.00 0.00 0.00 0.00) 0.00 0.00|
a) Otro Instrumento 1 0.00] 0.00 0.00 0.00 0.00] 0.00
b) Otro Instrumento 2 0.00 0.00 0.00] 0.00] 0.00 0.00]
) Otro Instrumento 3 0.00 0.00 0.00] 0.00 0.00] 0.00|
d) Otro Instrumento XX 0.00] 0.00 0.00 0.00 0.00] 0.00
C. Total de Obligaciones Diferentes
0.00 0.00| 0.00| 0.00} 0. 0.
de Financiamiento (C=A+B) i I o0 00
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